Graph 1 period of the function without using your calculator.

A) p=3sin v=>5¢c082x

b | =

Identify the maximum and minimum values and the zeros of the function in the
interval T=2=27]. Use your understanding of transformations, not your calculator.

—Cw L r!’:'k

A) y=4sinx
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Determine the phase shift for the function and the sketch the graph.

P TH. |
o Hort ?;1%

yr-ACa‘.v ﬂ'béx-c.\)
A) _‘l‘st[I—%}
y:A Sin I‘::.Cx—% A [ AMP-\
mP= e 2
Per = T v 1111-
05 :gv Ril’lﬂt P.<. F Llebt

Y=Aces&(x<+p

Y=A sin 3{x- +D

T
B) y=sin| x+—
| Hln[,‘l v 3)

Determine the vertical shift for the function and the sketch the graph.
B) y=sinx+3

A) y=cosx-2

Awmp= | Y
Per = 27T
p.5. None e
V.5, Opun g?F T wog-ew
-ty

- 1

' -‘-_ -
e T Ty
-5
Determine the vertical shift and phase shifl of the function and then sketch the graph

B) y= sin( x- g ]+ 2
|

A) v= uus[_r s E)—-l
6
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State the Amplitude and period of the sinusoid, and relative to the basic function, the

phase shift and vertical translation.

A) y= 3sin[_t - % J+ 2

Awp=>
P¢r=%—= —i',-—n—'-'::ﬂ"
P.w= ﬂibh'&g

V.S, wpst

=
~2ecos B(X —33 -4

B) y= —2ms[3x - ]- 4
4

2z 2T
Pev= & = =<~

P.5. TZ:a,\n{-'j\l;.
U.ﬁ, D‘ahr\ C.[

C)y=5sindmxc+6
ﬂmp:‘- 5

K21 mu |
Pee = T T A

P,C,, Noan e
V.s. uptl
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